Precalculus A/B

Chapter 1 Review - Part |

1) (6pts) Determine whether the relation, is a
functions.
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Function /NOT FUNCTION JXcircle)

State the domain and range of the relation.
DOMAIN: X = =5°, | | 5
RANGE: Y'_" -] , O

3) Is the graph a function? EXPLAIN.
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Find each product.
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2) (6pts) Determine whether the relation, is a
functions.
3,0) (-1, 0) (0.1) 3. 1)}
Function INOT FUNCTION (circle)
State the domain and range of the relation.
DOMAIN: _ X = =3 -1,0, >
RANGE: Y =0, °

4) Is the graph a function? EXPLAIN.
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Identify the domain of each.
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Factor each completely.
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Evaluate each function. Circle final answer.
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14) g(n) =—3n; Find g(Za)
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16) g(x) =3x + 2; Find g(x - 2)

15) p(n)=n2—2; Find p(n+3)
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Perform the indicated operation.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

25) Slope =5, y-intercept = —1 26) Slope =1, y-intercept =2
b= ‘&Q\A'\—trc ep

m = Slope

Write the slope-intercept form of the equation of each line. Y=mx+b
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Werite the slope-intercept form of the equation of the line through the given point with the given
slope. N
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Write the slope-intercept form of the equation of the line through the given points.

Wnercept
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Graph of each line with x and y intercepts. Label the ordered pairs for the x and y intercepts on
the graph.
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Graph each line. Label the y-intercept with a"Y" and 2 points with a ""*' to show you are
correctly showing you understand slope.
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Sketch the graph

of each line.
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41) Piecewise functions - review notes and be
able to match functions with graphs

You can do it :)

-6-



Precalculus A/B

Chapter 1 Review (Part 2)

ID:

Write the slope-intercept form of the equation of the line described. %“rv\
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Sketch the graph of each linear inequality.
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@) Positive correlation )

B) Negative correlation

C) No correlation
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A) Positive correlation
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C) No correlation
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( *A; No correlati;;] )
B) Negative correlation
C) Positive correlation

a) Construct a scatter plot.

b) Find the slope-intercept form of the equation of the line that best fits the data.
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A) No correlation

B itive correlation
*C) Negative correlation

¢) Draw the line that best fits the data by labeling 2 points.

d) Give r? value and explain what it means.
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